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E–162 

M. A. (First Semester)   

EXAMINATION, Dec.-Jan., 2020-21 

ECONOMICS 

Paper Fourth 

(Indian Economy) 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 
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lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- Hkkjr esa jk”Vªh; vk; dh x.kuk fuEufyf[kr ykxr vkSj ewY; esa ls 

fdl ij dh tkrh gS \ 

¼v½ cktkj ykxr vkSj fujarj dherksa ij 

¼c½ dkjd ykxr vkSj ekStwnk dherksa ij 

¼l½ cktkj ykxr vkSj ekStwnk dherksa ij 

¼n½ dkjd ykxr vkSj fujarj dherksa ij 

National Income in India is calculated at which of the 

following cost and price ? 

(a) At market cost and constant prices 

(b) At factor cost and current prices 

(c) At market cost and current prices 

(d) At factor cost and constant prices 

2- dsUnzh; lkaf[;dh laxBu }kjk jk”Vªh; vk; vkSj ldy ?kjsyw mRikn 

dh x.kuk ds fy, vk/kkj o”kZ gS % 

¼v½ 2004&05 

¼c½ 2009&10 

¼l½ 2011&12 

¼n½ 2015&16 
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The base year for computation of National Income and Gross 

Domestic Product by the Central Statistical Organization is : 

(a) 2004-05 

(b) 2009-10 

(c) 2011-12 

(d) 2015-16 

3- vkfFkZd fodkl dh fo’ks”krk gS % 

¼v½ vFkZO;oLFkk esa lajpukRed ifjorZu 

¼c½ O;kolkf;d lajpuk esa ifjorZu 

¼l½ ¼v½ vkSj ¼c½ nksuksa 

¼n½ mi;qZDr esa ls dksbZ ugha 

Economic development is characterized by : 

(a) Structural change in the economy 

(b) Change in Occupational structure 

(c) Both (a) and (b) 

(d) None of the above 

4- vkfFkZd losZ{k.k 2020&21 ds vuqlkj 2019&20 dh rqyuk esa 2020&21 esa 

orZeku dherksa ij izfr O;fDr vk; de gks xbZ gS % 

¼v½ 1]34]226 

¼c½ 1]26]968 

¼l½ 94]954 

¼n½ 86]456 
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According to economic Survey 2020-21 Per capita incomes 

at current prices in 2020-21 has reduced in the country as 

compared to 2019-20 by : 

(a) 1,34,226 

(b) 1,26,968 

(c) 94,954 

(d) 86,456 

5- jk”Vªh; tula[;k uhfr 2000 ds lEcU/k esa fuEufyf[kr esa ls dkSu&lk 

dFku lgh ugha gS \ 

¼v½ bls 1 tuojh] 2000 dks iwjs ns’k esa ykxw fd;k x;k FkkA 

¼c½ tula[;k ds y{; rhu pj.kksa esa foHkkftr gSaA 

¼l½ 2010 rd dqy iztuu nj ¼Vh- ,Q- vkj-½ dks 2-1 ds 

izfrLFkkiu Lrj ij ykukA 

¼n½ 2045 rd tula[;k fLFkjhdj.k dks izkIr djukA 

Which of the following statement regarding National 

Population Policy 2000 is not correct ? 

(a) It was implemented across the country on 1 January, 

2000. 

(b) Population goals divided into three phases. 

(c) Bringing the Total Fertility Rate (TFR) to a 

replacement level of 2.1 by 2010. 

(d) Achieving population stabilization by 2045. 
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6- 2011 dh tux.kuk ds vuqlkj Hkkjr esa izfr gtkj iq#”kksa ij efgykvksa 

dh la[;k fdruh gS \ 

¼v½ 933 

¼c½ 927 

¼l½ 943 

¼n½ 947 

What is the number of females per thousand males in India 

according to the 2011 census ? 

(a) 933 

(b) 927 

(c) 943 

(d) 947 

7- ,d vFkZO;oLFkk ds mRiknu vkSj fodkl ds lUnHkZ esa fuEufyf[kr ij 

fopkj dhft, % 

¼v½ ldy jk”Vªh; mRikn ¼th- ,u- ih-½ 

¼c½ ‘kq) jk”Vªh; mRikn ¼,u- ,u- ih-½ 

¼l½ ldy ?kjsyw mRikn ¼th- Mh- ih-½ 

¼n½ ‘kq) ?kjsyw mRikn ¼,u- Mh- ih-½ 
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Consider the following in the context of output and growth 

of an economy : 

(a) Gross National Product (GNP) 

(b) Net National Product (NNP) 

(c) Gross Domestic Product (GDP) 

(d) Net Domestic Product (NDP) 

8- jk”Vªh; vk; dks ekirs le; e/;orhZ vk; dks jk”Vªh; vk; esa ‘kkfey 

D;ksa ugha fd;k tkrk gS \ 

¼v½ blls vk; esa deh vkrh gS 

¼c½ nksgjh fxurh ls cpus ds fy, 

¼l½ baVjehfM,V eky vPNs ugha gSa 

¼n½ mi;qZDr lHkh 

Why are the intermediate goods not included in the National 

Income while measuring the National Income ? 

(a) It decreases income 

(b) To avoid double counting 

(c) Intermediate goods are not good 

(d) All of the above 
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9- fuEufyf[kr esa ls dkSu ,d egŸoiw.kZ lkekftd ladsrd gS tks fdlh 

le; esa lekt esa iq#”kksa vkSj efgykvksa ds chp xq.koŸkk dh lhek dks 

ekirk gS \ 

¼v½ lk{kjrk nj 

¼c½ vk;q jpuk 

¼l½ fyaxkuqikr  

¼n½ eR̀;q nj 

Which of the following is an important social indicator to 

measure the extent of quality between males and females in a 

society at a given time ? 

(a) Literacy rate 

(b) Age composition 

(c) Sex ratio 

(d) Death rate 

10- 2011 dh tux.kuk ds vuqlkj NŸkhlx<+ dh lk{kjrk nj D;k gS \ 

¼v½ 73-45% 

¼c½ 70-28% 

¼l½ 71-04% 

¼n½ mi;qZDr esa ls dksbZ ugha 
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What is the Literacy rate of Chhattisgarh as per 2011 Census ? 

(a) 73.45% 

(b) 70.28% 

(c) 71.04% 

(d) None of the above 

11- ubZ df̀”k uhfr dc ‘kq: dh xbZ Fkh \ 

¼v½ ekpZ] 2004 

¼c½ tuojh] 2004 

¼l½ tqykbZ] 2000 

¼n½ ekpZ] 2002 

When was the New Agriculture Policy Started ? 

(a) March, 2004 

(b) January, 2004 

(c) July, 2000 

(d) March, 2002 

12- bZt vkWQ Mwbax fctusl baMsDl }kjk tkjh fd;k tkrk gS % 

¼v½ vadVkM 

¼c½ fo’o cSad 

¼l½ vkbZ- ,e- ,Q- 

¼n½ MCY;w- Vh- vks- 
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Ease of Doing Business Index is released by : 

(a) UNCTAD 

(b) World Bank 

(c) IMF 

(d) WTO 

13- Hkkjr esa dkSu&lk laxBu df̀”k vkSj xzkeh.k fodkl _.k vko’;drkvksa 

dk /;ku j[krk gS \ 

¼v½ vkbZ- Mh- ch- vkbZ 

¼c½ ,Q- lh- vkbZ- 

¼l½ vkbZ- lh- ,- vkj- 

¼n½ ukckMZ 

In India, which organization take care of the agriculture and 

rural development credit needs ? 

(a) IDBI 

(b) FCI 

(c) ICAR 

(d) NABARD 

14- vkbZ- lh- ,- vkj-] 2020 ds vuqlkj Hkkjr esa fdl jkT; esa xUus dk 

lcls vf/kd mRiknu gksrk gS \ 

¼v½ mŸkj izns’k 

¼c½ fcgkj 

¼l½ gfj;k.kk 

¼n½ iatkc 
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Which state has the highest production of Sugarcane in India 

as per ICAR, 2020 ? 

(a) Uttar Pradesh 

(b) Bihar 

(c) Haryana 

(d) Punjab 

15- ljdkj us fdlku ØsfMV dkMZ ;kstuk dc ‘kq: dh \ 

¼v½ vizSy] 1953 

¼c½ vxLr] 1998 

¼l½ tqykbZ] 1991 

¼n½ uoEcj] 1995 

When did the government launched the Kisan Credit Card 

Scheme ? 

(a) April, 1953 

(b) August, 1998 

(c) July, 1991 

(d) November, 1995 

16- Hkkjr dh igyh vkS|ksfxd uhfr dc ‘kq: dh xbZ Fkh \ 

¼v½ 1955 

¼c½ 1948 

¼l½ 1956 

¼n½ 1961 
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When was the first Industrial Policy of India introduced ? 

(a) 1955 

(b) 1948 

(c) 1956 

(d) 1961 

17- 1991 ls iwoZ dh vkS|ksfxd uhfr;ksa ds vuqlkj fons’kh dEifu;ksa dks 

fofu;fer fd;k x;k Fkk % 

¼v½ ,e- vkj- Vh- ih- 

¼c½ Qsjk 

¼l½ fons’k O;kikj egkfuns’kd 

¼n½ mi;qZDr esa ls dksbZ ugha 

As perPre-1991 Industrial Policies foreign companies were 

regulated through : 

(a) MRTP 

(b) FERA 

(c) Director General of Foreign Trade 

(d) None of the above 
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18- jk”Vªh; ty rjhdksa ds lUnHkZ esa fuEufyf[kr dk feyku dhft, % 

lwph-I lwph-II 

(A) jk”Vªh; ty rjhds&1 (1) dkdhukMk&iqnqpsjh 

(B) jk”Vªh; ty rjhds&2 (2) dksYye&dksêkiqje 

(C) jk”Vªh; ty ekxZ&3 (3) lkfYn;k&Mqcjh 

(D) jk”Vªh; ty ekxZ&4 (4) bykgkckn&gfYn;k 

dwV % 

 A B C D 

(a) 1 2 3 4 

(b) 4 3 1 2 

(c) 2 4 1 3 

(d) 4 3 2 1 

Match the following in the context of National Water Ways : 

List-I List-II 

(A) National Water 

Ways-1 

(1) Kakkinada-

Puduchery 

(B) National Water 

Ways-2 

(2) Kollam-

Kottapuram 

(C) National Water 

Ways-3 

(3) Saldiya-Dubri 

(D) National Water 

Ways-4 

(4) Allahabad-

Haldiya 
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Code : 

 A B C D 

(a) 1 2 3 4 

(b) 4 3 1 2 

(c) 2 4 1 3 

(d) 4 3 2 1 

19- Hkkjr esa jsy VªSd dh yEckbZ ds ckjs esa fuEufyf[kr dFkuksa ij fopkj 

dhft, % 

¼1½ czkWM xst Hkkjr esa lcls vf/kd bLrseky fd;k tkus okyk jsy 

xst gSA 

¼2½ ehVj xst ds rgr ekxZ dh yEckbZ LorU=rk ds ckn ls 4000 

fdeh&20]000 fdeh ls c<+ xbZ gS 

¼3½ igkM+h {ks= esa uSjks xst dk mi;ksx fd;k tkrk gSA 

uhps fn, x, dksM dk mi;ksx djds lgh mŸkj pqfu;s % 

¼v½ dsoy 1 

¼c½ 1 vkSj 2 gh 

¼l½ 1 vkSj 3 dsoy 

¼n½ 1] 2 vkSj 3 
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Consider the following statements about rail track length in 

India : 

(1) Broad gauge is the most widely used rail gauge in 

India. 

(2) The route length under meter gauge his increased from 

4000 km-20,000 km since independence. 

(3) Narrow gauge is used in hilly terrain. 

Select the correct answer using the codes given below : 

(a) 2 only 

(b) 1 and 2 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

20- vjc lkxj vkSj if’peh ?kkV ds lekukarj Hkkjrh; if’peh rV ds 

lkFk dkSu&lh jsy ykbu pyrh gS \ 

¼v½ nf{k.k e/; jsyos 

¼c½ dksad.k jsyos 

¼l½ nf{k.kh jsyos 

¼n½ nf{k.k iwoZ jsyos 
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Which railway line runs along with Indian west coast parallel 

to the Arabian sea and the western Ghats ? 

(a) South Central Railway 

(b) Konkan Railways 

(c) Southern Railway  

(d) South Eastern Railway 

 [k.M&c izR;sd 2 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

1- th- Mh- ih- viLQhfr ls vkidk D;k eryc gS \ 

What do you mean by GDP deflator ? 

2- iz;ksT; vk; ls vkidk D;k vfHkizk; gS \ 

What do you mean by disposable income ? 

3- ‘kgjhdj.k dk vFkZ D;k gS \ 

What is the meaning of Urbanization ? 

4- tula[;k ds ?kuRo ls D;k eryc gS \ 

What do mean by density of population ? 
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5- U;wure leFkZu ewY; ls vki D;k le>rs gSa \ 

What do you understand by Minimum Support Price ? 

6- Hkwfe vf/kxzg.k vf/kfu;e] 2013 ds nks eq[; mís’;ksa dks la{ksi esa bafxr 

dhft,A 

Briefly point out two main objectives of Land Acquisition 

Act, 2013. 

7- laxfBr vkSj vlaxfBr {ks=ksa ls vkidk D;k eryc gS \ 

What do you mean by organized and unorganized sectors ? 

8- futh vkSj lkoZtfud {ks=ksa ls D;k eryc gS \ 

What do you mean by Private and Public Sectors ? 

 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

1- vfodflr vFkZO;oLFkk dh fo’ks”krkvksa dks le>kb;sA 

Explain the characteristics of underdeveloped economy. 
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2- jk”Vªh; vk; dh x.kuk djus ds rjhds D;k gSa \ 

What are the methods to calculate National Income ? 

3- tulkaf[;dh ls vkidk D;k rkRi;Z gS \ blds egRo dks foLrr̀ 

dhft,A 

What do you mean by Demography ? Please elaborate its 

importance ? 

4- Hkkjr esa tula[;k of̀) ds izof̀Ÿk ds ckjs esa crkb,A 

Explain the trends of population growth in India. 

5- Hkkjr esa df̀”k esa de mRikndrk ds fy, ftEesnkj dkjdksa dk mYys[k 

dhft,A 

Please mention the factors responsible for low productivity 

in agriculture in India. 

6- Hkkjr esa gfjr Økafr dh lQyrk ij fVIi.kh dhft,A 

Please comment on the success of green revolution in India. 

7- Hkkjr esa ,e- ,l- ,e- bZ- {ks=ksa dh laf{kIr O;k[;k dhft,A 

Briefly explain the MSME sectors in India. 

8- Hkkjr esa ifjokj fu;kstu dk;ZØe ds mís’;ksa ds ckjs esa la{ksi esa 

crkb,A 

Briefly explain the objectives of family planning programme 

in India. 
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 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

1- Hkkjrh; vFkZO;oLFkk dh eq[; fo’ks”krk,¡ D;k gSa \ Hkkjr esa vkfFkZd 

fodkl ds #>kuksa ij ppkZ dhft,A 

What are the main features of Indian economy ? Discuss the 

trends of economic growth in India. 

vFkok 

(Or) 

tula[;k of̀) vkfFkZd fodkl dks dSls izHkkfor djrh gS \ Hkkjrh; 

vFkZO;oLFkk ds lUnHkZ esa bldh ppkZ dhft,A 

How does population growth affect economic development ? 

Discuss it in the context of Indian economy. 

2- df̀”k _.k iz.kkyh ls vki D;k le>rs gSa \ Hkkjr esa laLFkkxr df̀”k 

_.k lqfo/kkvksa dh O;k[;k dhft,A 

What do you understand by agriculture credit 

system ? Explain the institutional agricultural credit facilities 

in India. 
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vFkok 

(Or) 

Hkkjr esa df̀”k mRikndrk vkSj xjhch ij Hkwfe lq/kkj ds izHkkoksa dk 

ewY;kadu dhft,A 

Evaluate the effects of Land Reforms on agricultural 

productivity and Poverty in India. 

3- futh {ks= ls D;k eryc gS \ Hkkjr esa futh {ks= dh mHkjrh Hkwfedk 

dh O;k[;k dhft,A 

What do mean by Private Sector ? Explain the emerging role 

of Private Sector in India. 

vFkok 

(Or) 

vkS|ksfxd uhfr dk vFkZ D;k gS \ 1991 dh ubZ vkfFkZd uhfr vkSj 

Hkkjrh; vFkZO;oLFkk ij blds izHkko ij ppkZ dhft,A 

What is the meaning of Industrial Policy ? Discuss New 

Economic Policy of 1991 and its effect on Indian Economy.  

4- vk/kkjHkwr lajpuk ls vkidk D;k eryc gS \ Hkkjrh; vFkZO;oLFkk ds 

lUnHkZ esa vkfFkZd fodkl ij blds egŸo ij ppkZ dhft,A 

What do you mean by infrastructure ? Discuss its 

significance on economic development in the context of 

Indian Economy. 
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vFkok 

(Or) 

lkekftd {ks= ds cqfu;knh <k¡ps ls vki D;k le>rs gSa \ xEHkhj :i 

ls Hkkjr esa LokLF; ds cqfu;knh <k¡ps dh fLFkfr dh O;k[;k dhft,A 

What do you understand by social sector infrastructure ? 

Critically explain the condition health infrastructure in 

India. 
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